The Ferret, ship.v00 structure(decimal this time):
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Starting from the bottom to the top this time:





- The group "65 - 65 - 45 - 45 " is the armour ( Front, rear, left and


  right).


- The group "60 - 60 " is the shield strenght (front and rear)


- Those 9s are the two mass drivers. The values after those 9s are kind of


  coordinates for the ship. There is a 10 byte interval between each weapon.


- The 2 is the number of weapons in the ship (1mass + 1mass=2)


- The group "8 - 9 - 8" is the roll, pitch and yaw.


- The "3" is the accel rate [not sure]


- The "50" is the ship's speed. (50x10 = 500Kps)


- The true meaning of this "5" is still unknown, but if you put a 3 it


will look like damaged (like when the engine's damaged some things


seem to get out the ships engine...)


- The "1" is the time it takes for one shield unit to recharge.


- The "48" is a value of the ferret. (48 Dec=30 Hex. Looks familiar?)


- The "0" is the number on the ship (it figures, we're looking at SHIP.V00)


- The "12" is another value of the ferret. (12 Dec=0C Hex. Looks familiar?)


- "Ferret" is the name on the ship. 
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